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Perhaps you only heard this when it is surrounded by a sealed cover

Overview

"OX 27 stated that he heard that if a 0911 °93 is punctured, its MY*w is 7172°7 XX M. K27
told him perhaps this which you heard is in a case where it was 2°no 7nx apmn.?
Moo explains why X271 assumed *0X 27 was discussing 2°nd 7»¥ and not other cases.

mooin asks:
— YNV D21 NN RNDYT PNYY 13939 NN

The "1 is astounded! Perhaps °0X 27 heard this ruling regarding a o911 °2> which

is designated for 231129, where the rule is that it is 77°7 X°¥1> v, why did 821 assume that
he was discussing a 2°nd 7% ApN?!

maon responds to the anticipated difficulty:?
= 9915 ANMIV 1Y PN N NIYIND 2P “7INDA 9INT TN 22971 SPIOND TIIVEN)

And it is necessary for "0X 27 to teach us this ruling, to exclude the opinion of X"

who shortly rules that if it was punctured n>t X322, it has no 82, etc. even if
it was 031" 7m%.° The question is why did not X271 assume that *oX 27 was discussing a 077 "7
e 1™ Tvnn and was stating the same poo as X27?!

nB0IN answers:
= 47915 D2 999N DN YYD DNDAT YRIYNT MY U

And one can say; that it seems that s"OX 27 statement was discussing a regular
o717 59> which was not designated to hold ooam —

Moo responds to an anticipated difficulty:
= 193549 N8N 19IYOY 79D 9INT INND YIY 70¥97 9WIN 12I¥DT 99919Y NI

! This in in accordance with the ruling of X271 previously, in a case where it was designated to hold 2°1%°. However

usually a 0717 °92 is 219201 AW if it is 2°N°T XOXWD 2P

2 If its opening was tightly closed it will prevent Xm0 from an N7 27X to enter into it, unless it was 71277 R*X113 371,

See footnote # 1 that a ‘regular’ ©71 93 is N°T XXM MW, therefore X217 told oKX 27 that your My w of 11%°7 XX must

be in regards to 7°n5 7n¥, for otherwise it is N°T X*¥ 1M 1770 and not 177 XXM,

3 Seemingly *OX 17 cannot be discussing a 017 *3 which is 21179 TR, for if so, what is the novelty of his ruling;

obviously if it is °112™1% 711 then certainly it is v (only) if it was %1171 X°¥I113 2p°1.

4R,0K.

3 See ™M "7 XX "N,

¢ Therefore %21 said since we are discussing a ‘regular’ 0711 *%3, the MYw of 117 R>¥M> cannot apply to make it MY,

for the 2w of a regular 0717 °22 is N°T X*¥ M, so perhaps *OX 171 was discussing a case of 2°nd 7Y APM.

7 If the 071 73 was punctured 7127 X°¥> the seeds in them will not be A %2p% W21 when they come in contact
1
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And we cannot say that "oX 27 heard this ruling of 117 X°%10 regarding w7
2°w7 in accordance with the one who maintains shortly® that the =3y for wan

QYT 1S 17297 ROXIMAD; it is true that there is a 7"2 that 2°¥77 W27 is 7 X°XM3 (only) -
— 9999 DIYIT YWIN PPIYYT YWIDT DIVIPN TYurab

According to s'>'""'2" explanation that he explained the argument between *01 '

72X 72 and X727 72 °01 " was in regards to 2597 w271, so we can say that perhaps 27
"OX was also referring to a°y77 7w>n and he is following the opinion of the one who maintains
112°9 RO¥1MD —

moon dismisses this explanation:
= 9133 \Y 299 929N DN YD VPI INNN 19 ONY

For if indeed this is so (that 8" is discussing 2°¥71 °Ww277); why did X"2 mention Y5

©91, even by wooden utensils this same law will also apply that it is not 2°vr Pwn
T XXM —

Another refutation
$JOP YWY 1NYIY 1005997 9N 1PaybT A%Y X220 NAYT I

And additionally; for X239 maintains that for 2°p97 w27 the amount is JuP WD,
and not 71 R¥X11.

Summary
The common term 9711 °%5 rejects the concept of 2°2111°7% 7. X237 could not have

assumed that *0R 27 is referring to 0°¥7r w1 since he mentions 0717 °%5 (and not 92
YY), and X217 maintains 2°¥77 W77 is 1R W2

Thinking it over

Presumably X271 knew of the npYorn between X"92°" and 1"92°"; so why could not
X217 assume that X" follows that opinion of 1777 X°¥113; What does m501n mean with
the "1 (and why is the TW1 even necessary)?!!!

with water because we consider them ¥pp% 121n; however if the hole is less than 1771 ®°%115 they will be w7 Yapn.
8 R,%.
? Seemingly this should read w11°9% (instead of wY). See "3 "7 X,1% >"w1. See there >»25 71"7 '0n who disagrees
with >"wm.
10 See the X3 in this Ty. Therefore X271 would not have assumed that he is discussing 2°v71 w271 (or he would have
refuted him). See ‘Thinking it over’.
11 See footnote # 10.
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